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Impedance of (10 Ohms + 10 nH) // 1pF
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Note that the impedance peaks to a value Q times higher than that predicted by our straight line
impedance approximation.
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HW1 Rubric

1) 6 pts
-- 2 pts per plot

2) 12 pts total
-- 3 pts per plot, 1 pt for correct amplitude, 1 pt for correct phase shift, 1 pt for labeling axis

3) 4 pts
-- half for attempt, +4 for correct answer

4) 10 pts
-- 2 pts for each item

5) 17 pts
-- a) 1 pt for each component
-- b) through e) 2 pts each

6) 6 pts
-- 2 pts each for gm,ro,Av

55 pts total



	hw1_soln
	rubric

